CH412 Physical Chemistry

A math-capsule for non-math students

UocH/SoC



These notes summarise, for those students
who didn't study mathematics in B.Sc., the
important math-concepts needed for the first
semester physical chemistry course. You
should work through it - fill in the details
which are left out - and do all the exercises.
If you need more help, read a college maths
text / consult your math friends / askme fternoons)
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* plot a few simple functions below (make smooth plots - use a

sharp pencil)
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Table (use a calculator)
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To see what the two limits are, complete the following Table.
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Proceeding along similar lines, complete the following Table
of derivatives
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What is the fourth derivative of sin(x)?
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Do a similar calculatiion for the function re~2rT,
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Why is g(x) called an indefinite integral?
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Try to integrate the following functions .
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Find the Laplacian of x2 + y2 + z2

Complete the following contour plot

Dowm.m. ?
{(x,,) & }éu? | | Ll




